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General Instructions :

Questions No. 1 to 10 are Multiple Choice Questions. Choose the correct option
out of the given options and write the same in your answer-sheet.

1. e & folu qe8 Iugh arma fafy g
(1) fETem @ fafy
() 3h1 @AnTg fafy
(|) wwg o fafu
(g)  ufsham amma fafa
The best method of costing for a Canteen is
(a)  Operating costing
(b)  Contract costing
(c) Batch costing

(d)  Process costing

2. ufETe wna fafe <l fomar
(37) foram = aren wE ol srafy w1 g @
(F) e i fafire yefd
(@) T w1 EArl SR aRErdRiiar | sfie
(3) wwE @

The feature of operating costing is

(a)  Work undertaken is of long duration
(b)  Unique nature of work
(c) Classification of costs into fixed and variable

(d) All of these

305 2



3. ufEsd arrd fafy ) wors 8 gedl @ 1

(31) foree fore
CIRIEIRER]
(@) ferarmieR
(3) 3 @ @l

The unit of transport costing can be
(a) Quintal km

(b)  Passenger km

(¢)  Kilometre

(d)  All of these

4. 7T A fafy S R 1
(37) rEgamet & fag
(@) Ceifasm gaeshi & fmi & fou
(®) 9 M % fer
(3) e e % fag

Single costing is suitable for

(a)  Hospitals
(b)  Manufacturing television components
(c)  Bridge building

(d)  Cement industry

5. TGl UHEHH IEA 1 IcUTE iR =adl @l 8, J81 9ed I9Yh anmd iy

? I
(1) wg ara fafy
(9) 3 (A1 38eYe) o fafy
(@) ok @ra fafy
(3) 3uE A fafy

305 3 P.T.O.

-]

Fal



Where the same product is continuously produced, the most suitable
method of costing is

(a)  Batch costing
(b)  Unit or output costing
(c) Contract costing

(d)  Job costing

6. e S hi @A M4l i St 8
(31) <rTa faeror s
(¥) qoH-9 SR
(@) 9o @ R

() ATH-BIH QT STt

The cost of a contract is determined by preparing
(a)  Cost Sheet

(b)  Balance Sheet

(c) Separate Account

(d) Profit & Loss Account

7. G JihAT BT 1 AR I
(31) fshen @Td ¥ Sfere wE =z
(%)

(@) AN @d | Sfae w =nfge

(3) I @Td H shise AT =MMET

Scrap value of normal loss should be

yfskam @Td 1 shfge tam =nfen

(a)  Debited to Process Account

(b)  Credited to Process Account

(c) Debited to Profit & Loss Account
(d)  Credited to Profit & Loss Account
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I TrereTt § yges o fafyr 2 1
(1) 3w arma fafy

(&) sk @mTa fafy

(|) 31 g fafy

(?) §qg @ fafu

The method of costing used in an oil refinery is
(a)  Job costing

(b)  Process costing

(c) Contract costing

(d)  Batch costing

UHT 391G S G&F I%q < Wi % GRF w9d: & 3ca1ied &l Sl @, HhedTdl 8 1

(37) i 3IeuTg
(¥) W& 3cg
(@) whaTg (3FRY)
(37) T 9 HE T

The product that is produced incidentally in the course of processing the
main product is called

(a)  By-product
(b)  Joint product
(c) Scrap

(d)  None of these

T ATTa 3T AT ol Rl THeT S8Rl SHTeR fohaT STTaT 3 1
(1) Y- @

(&) =9 qdeor (g oid)

(9) THO-9F HH1Y™ @il

@) oA

|
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Reconciliation of financial and cost books is done by preparing
(a)  Profit & Loss Account

(b)  Trial Balance

(¢) Memorandum Reconciliation Account

(d) Balance Sheet

11. G ava fafy i #iE g1 fonivan s |

Mention any two features of batch costing.

12. Tr=fafgd = il And gehte oId1su
(1) S 1 wg
(&) e U
(|) U I
(®) sl fre

State the cost unit of the following industries :
(a)  Brick manufacturing unit

(b)  Flour mill

(c) Paper industry

(d)  Textile mill

13. Tg 39S 1 B ? < IS AT |

What is joint product ? Give two examples.

14. T 3cA1GH © 3719 =1 993 & ?

What do you understand by equivalent production ?
15. 3! amra fafer o smqem (Sfaumern) iy (fdsm o) = g 2
What is the retention money in contract costing ?
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16.

17.

18.

19.

20.

21.
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fepal TR ITNTI/3cTel o ATH aTs¢ fS-eh foTu 3eh1 @rma fafer o19ams St 2 |

Name any four industries/products for which contract costing is adopted.

o 3t <mTa @rdi & fUaE @ = A g 2

What is the advantage of reconciling financial and cost books ?

gl 9 wel o 919 Sasy S fodi™ @l # g I § 9 A ol §
T |

Name any four items which are shown in financial books but not in cost
books.

e arrd fafy =1 gftarfya hifse |

Define operating costing.

TRl @ W Y R WG B 2 € I AT |

What do you understand by standing charges ? Give two examples.

500 24 =l HIA 1 IUANT WH IAE i 94 o foru foman mn s @ ufseanati
T ISR & | UishAT A A e 7
It T 10,000

H9igdl ¥ 5,000

AT T T 2,000

10% @Il %1 & §3T S G 8 | IEh! T 8 T 300 U Y | AT sk
A <Rl ©TdT1 dq13T |
500 tonnes of raw materials were used to produce a product which passes
through two processes. The cost of Process A is as follows :

Material T 10,000

Labour ¥ 5,000

Other expenses T 2,000

10% of the material is wasted which is normal. Its scrap realised ¥ 300.
You are required to prepare Process A Account.
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22.

23.

24.

25.

26.

305

THICIE AT 8 ? FHI S I TR AT Bl 8 ?
What is a quotation ? What is the basis for its preparation ?

3cITE @I ¥ 1 arcqd 8 ? Th 3cUTeH @A 1 T ST, |

What is meant by production account ? Prepare a specimen of a
production account.

3Tfofeh Tg AT T § 2 30 hA fhrerd B 2

What is economic batch quantity ? How is it calculated ?

Teh 2o 10 27 UTA ekt TIF P 8 IaTdl 3 | 98 4 ¢ 0Tl WA Q W 3dral 3
3R TR B WIH R | IFM R W 8 & HIA YH: W L 98 WY W P W
I8 959 a1 2 | PH QA 3, Q¥ R IR R P gt shmsm: 40 forrfl,
60 foprft 3T 80 ferrft B | fouer o ferrft et spimffrer oo fordt femferu |

A truck starts with a load of 10 tonnes of goods from station P. It unloads
4 tonnes at station Q and the rest of the goods at station R. It reaches
back directly to station P after getting reloaded with 8 tonnes of goods at
station R. The distances between P to Q, Q to R and from R to P are
40 km, 60 km and 80 km respectively. Compute absolute tonne km and
commercial tonne km.

[ N e N aN

fFfaRgd gEATsTl o IR W THYgH et 3R TRu-9a gageE o@n
FET |

-
ANTd TETIER AT 10,000
forftar TRETgER @Y 10,300
AT oET ekl IUNCTT T ST T 500
NIEIREE 1,000
9 o W o 0T NI i@l | g o foRtrn 300
ISt w fean wn e S foefly @ 9 ot @ 500



From the following figures, prepare a Reconciliation Statement and a
Memorandum Reconciliation Account.

3T
Profit as per Cost Accounts 10,000
Profit as per Financial Accounts 10,300
Works overhead under-recovered in Cost Accounts 500
Dividend received 1,000
Rent paid for owned building in Cost Accounts 300
Interest on capital paid included in Financial Accounts 500

27. T dhel 7 15Had &l T 5,00,000 H Tk 3oh1 foram 3 39 oY 31 fewme a6
39 3% W fAeafafga =g fru .
gl T 1,00,000, weigd T 1,35,500, ®IF T 18,000, 3UNSIF T 7,500 |
31 feEFst % I ¥ T 2,00,000 I §Y S YA HE H %% |
31 fearer =1 gaey gl T 9,500 H1 off T FIF W 10% eIgE h1 IAM
fopar o |
3 IET AR HIfSTT TR FaT3T foh AW 1 -8 9HT ATH-81H od | 34

w9 U 3T fomam ST =nteu | 5

On 15t January, a contractor obtained a contract for ¥ 5,00,000 and
incurred the following expenses on the contract till 315% December that
year :

Material ¥ 1,00,000, Wages I 1,35,500, Plant ¥ 18,000, Overheads
< 7,500. Till 315t December, he received from the contractee ¥ 2,00,000
which is %th of the work certified. On 315! December, the material in

hand was ¥ 9,500 and depreciation on plant was estimated 10%.

Prepare the Contract Account and state what portion of the profit should

reasonably be transferred to Profit and Loss Account.
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28.
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3URNR &1 303 o Y H Ush ST g o oNd @l ¥ H=faiad
T I FS

gt T 4,010
weedl
faymar - 60w T IBUMR A | A
fayma - g0 TR2UMMR AT
foyma - 20w T UM E A FH
T a1 fIamT o IufteEt 1 FETER SIue e TR
Iierdsitel ITied
faqm st - < 6,000, 6000 FHIG e % g
faams - < 8,000, 4000 FIG wEi % g
faqmE - < 4,000, 1000 FHIG el W g
Trft 3ufer™

Z 40,000, 20,000 HHT T HH & =l & [T |

3T FEAT 303 1 AT A HIT J1 Forshd qed W 25% AW Td g =l

feRalT ST 3Tt e ot FepTiery |

HYAT

3I9RNE AN I ¥ A9 = gHEd 8 2 I8 3oh1 and oty 9 foem v faw
7 2 Tohegl Q1 3T o W SAEY SEl I8 AT 9 39T AT 7 |

Following information has been extracted from costing records of an
engineering works in respect of Job no. 303 :

Materials T 4,010

Wages

Department A — 60 hours @ ¥ 13 per hour
Department B — 40 hours @ ¥ 12 per hour
Department C - 20 hours @ ¥ 15 per hour
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Overhead expenses for these three departments were estimated as
follows :

Variable overheads

Department A - T 6,000 for 6000 labour hours
Department B — < 8,000 for 4000 labour hours
Department C - T 4,000 for 1000 labour hours

Fixed overhead
T 40,000 for 20,000 normal working hours.

You are required to calculate the cost of Job no. 303 and calculate the

price to be charged so as to give a profit of 25% on selling price.

OR

What do you understand by job costing ? How is it different from contract

costing ? Name any two industries where this type of costing is followed.
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